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(ii) Referring to the diagram in (i), as 𝑃𝑋 = 𝑅𝑋,  

𝑃𝑋 + 𝑋𝑄 = 𝑅𝑋 + 𝑋𝑄, and this is minimised when 𝑋 lies on the 

line 𝑅𝑄.  

In that case, 𝑅𝑋 + 𝑋𝑄 = 𝑅𝑄 = √(11 − 7)2 + (2 − [−1])2 

= √16 + 9 = 5  

 

(iii) See the diagram in (i). 
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(iv) Referring to the diagram below, 𝑍𝑄 = 𝑍𝑆, and so 

𝑃𝑌 + 𝑌𝑍 + 𝑍𝑄 = 𝑃𝑌 + 𝑌𝑍 + 𝑍𝑆  

Also, as before, 𝑃𝑌 = 𝑅𝑌, 

so that 𝑃𝑌 + 𝑌𝑍 + 𝑍𝑆 = 𝑅𝑌 + 𝑌𝑍 + 𝑍𝑆, 

and this minimised when 𝑌 and 𝑍 lie on the line 𝑅𝑆. 

In that case, 𝑃𝑌 + 𝑌𝑍 + 𝑍𝑄 = 𝑅𝑆 = √(2 − 7)2 + (11 − [−1])2 

= √25 + 144 = 13  

 

 

 


